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QUESTION 1

A business analyst is reviewing the stakeholder management strategy for a high profile Human Resources (HR) project
Following an organisational restructure, Harvey\\'s role has changed from Director of Operations to Director of HR and
he has inherited sponsorship of the project Harvey was previously involved in the project, but had little interest because
his focus was on the Operational Projects that he sponsored.

Which of the following sets of stakeholder management strategies represent appropriate approaches for Harvey; firstly,
for when the project started and secondly now that his role has changed?

A. Keep informed; Constant active management
B. Ignore, Constant active management

C. Watch, Constant active management

D. Constant active management, keep informed
Correct Answer: C

A stakeholder management strategy is a plan for how to engage and communicate with stakeholders based on their
level of interest and influence in the organisation or project. A stakeholder management strategy can vary depending on
the stakeholder\\'s position on the power/interest grid, which has four quadrants: high power, high interest; high power,
low interest; low power, high interest; and low power, low interest. Therefore, option C is the correct answer, as it
represents appropriate stakeholder management strategies for Harvey based on his position on the grid before and after
his role change. Watch means to monitor the stakeholder\\'s level of interest and influence and keep them informed of
relevant developments. This is suitable for when Harvey was in the low power, low interest quadrant, as he had little
authority or concern over the project. Constant active management means to involve the stakeholder closely in the
project and seek their input and feedback regularly. This is suitable for when Harvey moved to the high power, high
interest quadrant, as he became the sponsor and owner of the project. Option A is not a correct answer, as keep
informed means to provide the stakeholder with sufficient information and updates to maintain their interest and support.
This is more suitable for when Harvey was in the low power, high interest quadrant, not the low power, low interest
qguadrant. Option B is not a correct answer, as ignore means to disregard the stakeholder\\'s views and needs and
exclude them from communication. This is not a good strategy for any stakeholder, especially one who has some power
or influence over the project. Option D is not a correct answer, as constant active management means to involve the
stakeholder closely in the project and seek their input and feedback regularly. This is more suitable for when Harvey
was in the high power, high interest quadrant, not the low power, low interest quadrant. References: BCS Practitioner
Certificate in BAP Specimen, page 21.

QUESTION 2

How would a business analyst use a Target Operating Model (TOM) in gap analysis?

A. To assess how far the organisation\\'s current activities support the desired situation.
B. To identify how the organisation should structure itself to support the desired situation.
C. To determine which activities in the desired situation are not financially feasible

D. To establish which stakeholder views will not be reflected in the desired situation

Correct Answer: A
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A Target Operating Model (TOM) is a high-level description of how an organisation wants to operate in order to achieve
its vision and strategy. It defines what an organisation does, how it does it, who does it, where it does it and why it does
it. A TOM can be used in gap analysis to compare the desired situation with the existing situation and identify what
needs to change to achieve the desired situation. Therefore, option A is the correct answer, as using a TOM in gap
analysis would help to assess how far the organisation\\'s current activities support the desired situation. By comparing
the current activities with those defined in the TOM, a gap analysis would help to identify what activities are missing,
redundant or inefficient in achieving the desired situation. Option B is not a correct answer, as using a TOM in gap
analysis would not help to identify how the organisation should structure itself to support the desired situation. The
structure of an organisation is one aspect of a TOM, but not its main purpose. A TOM defines what an organisation does
more than how it organises itself. Option C is not a correct answer, as using a TOM in gap analysis would not help to
determine which activities in the desired situation are not financially feasible. The financial feasibility of an activity is not
determined by comparing it with a TOM, but by conducting a cost-benefit analysis or a business case. Option D is not a
correct answer, as using a TOM in gap analysis would not help to establish which stakeholder views will not be reflected
in the desired situation. The stakeholder views are not determined by comparing them with a TOM, but by conducting a
stakeholder analysis or a CATWOE analysis. References: BCS Practitioner Certificate in BAP Specimen, page 27.

QUESTION 3

Bessant Co.manufactures and sells clothing. The company is every profitable and the IT director would like to invest
some of these profits into improving the technical infrastructure of the company, which would help the organic growth of
the company. However, the finance director would like to use the profits to acquire one of its competitors.

Shelly is the business analyst on this project and she recognises that the IT and finance director do not agree on the
future direction of the business. Once prefers organic growth and the other, growth by acquisition.

What techniqgue COULD Shelly use to improve her understating ot these two different perspectives?

A. CATWOE.

B. The power/ interest grid

C. SWOT analysis

D. POPIT model.

Correct Answer: A

CATWOE is a technique that helps to understand different perspectives of a situation by analyzing six elements:
Customers, Actors, Transformation process, Worldview, Owner, and Environmental constraints. Shelly could use

CATWOE to

improve her understanding of the IT and finance director\\'s views on the future direction of the business, by identifying
who are the customers, actors, owners, and so on for each option (organic growth or acquisition), and how they differ.

Option A is the correct answer.
References:

What Is The CATWOE Analysis And Why It Matters In Business - FourWeekMBA CATWOE Analysis: A Holistic
Approach to Problem Solving - SlideModel

QUESTION 4
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A business case features a management summary, from which the below extract is taken:

“The new approach will incur significant investment in terms of software licenses and annual maintenance fees, which
will not be negotiable until year four of the proposal. We will research competing suppliers in the marketplace at end of
year three, the supplier will, therefore, be likely to otter a reduced price for year five and beyond. However, we are
convinced that the selected option is the right one. It will give us a competitive edge as a result of improved
management information, in addition to the boost it will give to our image with our established customers."

Which categories of costs and benefits are described in this extract*?
A. Tangible costs, intangible benefits.

B. Tangible benefits, intangible costs

C. Intangible benefits, intangible costs

D. Intangible costs, tangible benefits

Correct Answer: D

A business case is a formal written proposal that details the costs and benefits of a proposed business change or
solution. It helps to justify and secure the approval and funding for a proposed business change or solution. Costs and
benefits can be classified into two types: tangible and intangible. Therefore, option D is the correct answer, as it
identifies which categories of costs and benefits are described in this extract respectively. Intangible costs are costs that
have no physical existence and cannot be measured or quantified easily by human senses. Examples of intangible
costs are reputation, image, morale etc. An example of intangible costs in this extract is significant investment in terms
of software licenses and annual maintenance fees, which will not be negotiable until year four of the proposal, as it has
no physical existence and cannot be measured or quantified easily by human senses. Tangible benefits are benefits
that have physical existence and can be measured or quantified easily by human senses. Examples of tangible benefits
are revenue, profit, market share etc. An example of tangible benefits in this extract is improved management
information, in addition to the boost it will give to our image with our established customers, as it has physical existence
and can be measured or quantified easily by human senses. Option A is not a correct answer, as it does not identify
which categories of costs and benefits are described in this extract respectively. Tangible costs are costs that have
physical existence and can be measured or quantified easily by human senses. Examples of tangible costs are
equipment, materials, labour etc. There is no example of tangible costs in this extract. Intangible benefits are benefits
that have no physical existence and cannot be measured or quantified easily by human senses. Examples of intangible
benefits are satisfaction, loyalty, quality etc. There is no example of intangible benefits in this extract (although image
could be considered as an intangible benefit). Option B is not a correct answer, as it does not identify which categories
of costs and benefits are described in this extract respectively. Tangible benefits are benefits that have physical
existence and can be measured or quantified easily by human senses. Examples of tangible benefits are revenue,
profit, market share etc. An example of tangible benefits in this extract is improved management information, in addition
to the boost it will give to our image with our established customers, as it has physical existence and can be measured
or quantified easily by human senses. Intangible costs are costs that have no physical existence and cannot be
measured or quantified easily by human senses. Examples of intangible costs are reputation, image, morale etc. An
example of intangible costs in this extract is significant investment in terms of software licenses and annual
maintenance fees, which will not be negotiable until year four of the proposal, as it has no physical existence and cannot
be measured or quantified easily by human senses. Option C is not a correct answer, as it does not identify any
category of cost or benefit that has been described in this extract. References: BCS Practitioner Certificate in BAP
Specimen,

QUESTION 5
The directors of Swift Despatch believe they might be able to improve their service and reduce costs by opening a

distribution centre in Coventry A team has been created to investigate this further, including representatives of logistics,
property and marketing Yasmin has been asked to advise on how the Business Case should be progressed at this
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point.

What SHOULD she advise?

A. Create a high level Business Case

B. Create a detailed Business Case

C. It is too early to work on the Business Case

D. Confirm with the directors the costs and benefits
Correct Answer: A

A high level Business Case is a document that provides a preliminary rationale and justification for a proposed business
change or solution. It helps to establish the feasibility and desirability of the project and secure initial approval and
funding for further investigation and development. Therefore, option A is the correct answer, as creating a high level
Business Case would be the best activity to undertake at this point for introducing a new procurement system. A high
level Business Case would help to define the problem or opportunity that motivates the project, identify and compare
different procurement solutions based on their expected benefits, costs, risks and impacts, and recommend the
preferred option for further analysis and evaluation. A high level Business Case would provide a solid foundation for
proceeding with the project and preparing a detailed Business Case later on. Option B is not a correct answer, as
creating a detailed Business Case would not be an appropriate activity to undertake at this point for introducing a new
procurement system. A detailed Business Case is a document that provides a comprehensive rationale and justification
for a proposed business change or solution. It helps to confirm the viability and worthiness of the project and secure
final approval and funding for implementation and delivery. A detailed Business Case would require conducting
extensive research and analysis on the preferred procurement solution and presenting its definitive benefits, costs, risks
and impacts. A detailed Business Case would be premature and unnecessary at this point, as it would depend on the
outcome of the high level Business Case first. Option C is not a correct answer, as it is too early to work on the
Business Case would not be an appropriate activity to undertake at this point for introducing a new procurement system.
Working on the Business Case is an essential activity for any project that involves significant business change or
investment. It helps to provide evidence and support for the project and ensure its alignment with the organisation\\'s
strategy and objectives. Working on the Business Case would not be too early at this point, as it would help to establish
the feasibility and desirability of the project and secure initial approval and funding for further investigation and
development. Option D is not a correct answer, as confirming with the directors the costs and benefits would not be an
appropriate activity to undertake at this point for introducing a new procurement system. Confirming with the directors
the costs and benefits would require preparing a high level Business Case first to estimate and compare the financial
implications of different options and recommend the best one for further development and implementation. Confirming
with the directors the costs and benefits without preparing a high level Business Case first would risk providing
inaccurate or incomplete information that may not reflect the value or feasibility of the project. References: BCS
Practitioner Certificate in BAP Specimen, page 33.
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